L INEARI 2ATION 0F A TYCCRETE —TIME SYSTEM:

X[+ = £ (3], aCed)

)
I Chovst e Ipe juput: WLEI=W N €=1,2,3, €2)
2- Find (0~S$uwiv~) yon ) & BC glmbio x¥
— e sile wavams wo hance w b = X[}z X ME (32)
—in poabienley, xCe+)= XCG] = x" )
= () bromes: x"'-.--?('\?’,u') (D
— Ueehwv coser scluhon com Ce diffien I
— Scaoloy Cose: eesiev
— epampe: Ly & (cey:=¢)
' | ) £ gax \tae (‘f&”(mc)
- o) N e, )
N7 — ©
z /
| x—>

\ thpe V- hte
L v
3. Now ewe con fc'nwize orvernmd (WF X))
< & e \R
— S&-s‘ \L{el - \k‘ 4 L\NCPJ £oet

— comell (a-“uMPHM) (M

— vesuthwb X LE) = ¥F+Bx(e]

(8)

—
—_ eﬁ'ml -G (;[L—],\A['E]) in TO\) fsv Senvi€s and isnwve oW\ Kghev vdev fevmns

= -y = 'S - - > -~ ~
— LIXV S, CraatD > £(R5uW)+ L[ 6%Te] 4 f( sule] ()
' T
el x| I;( Ju

- b -
- _JC (¥ &)+ Jx ax e) + Ju Aavdd

(o)




G, Tusevk () omd (8 in (): %[+ = £ (F(€), AL O

.4/ - KN - L7 “ -
—) X4 &) = -f-(,x’*;;f) +> JxOxTe] + Ju Qule] GO
v L ~ 9

—

—> flese ave e feving q fiee DC 0P P'— eqnh. dP)

nen
, wx)

=  ARTe+] =~ Ty Sx(61 o Tuaule) (12)

3 T S,

LA = =




